12. Pracovni list — Druha mocnina

1) Vypocditej zpaméti:

4) Vypoditej:

a) 52 = a) 4+3.92=
b) (-7)?=
C) 82= b) 3_(2'4)22
g (&) = c) (5-2)-4=
4
e) (9= d) 52-(-2)2=
f) (— %)2 = e) (9-3)2-6%+(-6)%=
g) 10°= ) (8-5)2+(7-2)2 - (8-6) =
"6 g) (2245%)-3%+6%- 22 =

2) Umocnhi zpaméti:

h) (-5)%-10+(-22+8)-5=

a) 500%=
b) 0,00022 =
2 —
¢) 40000%= 5) Vypotitej:
2:
4 03 a) 2.32-4.0,5%=
e) 700%=
f) 0,0062= b) 102_4_12_3=
g) 80%=
h) 0,001%= c) 1,4+10.0,4%=
3) Vypoditej:
a) (-4)2= d) -1-4.3%=
b) -52=
) e) 54(10-4.3) =
c) -(+8)%=
d) (7= f) 5.0,22-2.03%=
e) -12=
f) -(-6)°= 3.22-5
g) +7°= €) 27-2.32 "

h) -102=






